4.9 through 4.1 Two vertical forces are applied to a beam of the cross section ahown.

PROBLEM 4.10 Determine the maximum tensile and compressive stresges in portion BC of the beam.
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PROBLEM 4,21 4.21 Knowing that for the extruded beam shown the allowable stress is 12 ksi in

tension and 16 ksi in compression, determine the largest couple M that can be applied.
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4.116 Determine the stress at points 4 and B, (a) for the loading shown, (&) if the
PROBLEM 4.116 60-kN loads arc applied at points 2 and 3 are removed.
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4.134 A vertical force P of magnitude 20 kips is applied at a point C located on the
PROBLEM 4.134 line of symmetry of the cross section of a short column, Knowing that y=5in,
determine (a) the stress at point 4, (b) the stress at point B, (¢} the location of the

neutral axis.
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4.140 An ecceniric axial force P is applied as shown to a steel bar of 25 x 90-mm
PROBLEM 4,140 cross section. The strains at 4 and B have been measured and found to be
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Knowing that E=200 GPa, determine () the distance d, (b) the magnitude of the force
P.
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PROBLEM 4.148

M= t0kip.in. [
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4.148 through 4.150 The couple M is applied to a beam of the cross section shown
in a plane forming an angle #with the vertical. Determine the stress at (@) point 4, (b)
point B, (¢} point O,
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4.164 An axial load P of magnitude 50 kN 1s applied as Showf [0 2 ShOIT S&CTIon Of &

PROBLEM 4.164 W 150 % 24 rolied-steel member, Determine the largest distance a for which the

maximum compressive stress does not exceed 90 MPa.
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4.162 The tube shown has a uniform wall thickness of 0.5 in. For the given loading,

determine (g} the stress at points 4 and B, (&) the point where the neutral axis
intersects line ABD.
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PROBLEM 4.150

4,143 through 4.150 The couple M is appiied to a beam of the cross section shown
in a plane forming an angle S with the vertical. Determine the stress at () point 4, (5)
point B, (c) point ©.
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